Chapter 22 – Practice Questions



1.
One determinant of the long-run average unemployment rate is the

a.
market power of unions, while the inflation rate depends primarily upon government spending.

b.
minimum wage, while the inflation rate depends primarily upon the money supply growth rate.

c.
rate of growth of the money supply, while the inflation rate depends primarily upon the market power of unions.

d.
existence of efficiency wages, while the inflation rate depends primarily upon the extent to which firms are competitive.


2.
If policymakers increase aggregate demand, the price level

a.
falls, but unemployment rises.

b.
and unemployment fall.

c.
and unemployment rise.

d.
rises, but unemployment falls.


3.
Phillips found a negative relation between

a.
output and unemployment.

b.
output and employment.

c.
wage inflation and output.

d.
wage inflation and unemployment.
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4.
Refer to Figure 22-1. If the economy starts at c and 1, then in the short run, an increase in the money supply growth rate moves the economy to

a.
a and 1.

b.
b and 2.

c.
c and 3.

d.
None of the above is correct.


5.
Refer to Figure 22-1. If the economy starts at c and 1, then in the short run, an increase in government expenditures moves the economy to

a.
b and 2.

b.
b and 3.

c.
d and 3.

d.
None of the above is correct.


6.
Refer to Figure 22-1. If the economy starts at c and 1, then in the short run, a decrease in aggregate demand moves the economy to

a.
a and 2.

b.
d and 3.

c.
e and 3.

d.
None of the above is correct.


7.
The natural rate of unemployment

a.
is constant over time.

b.
varies over time, but can’t be changed by the government.

c.
is the unemployment rate that the economy tends to move to in the long run.

d.
depends on the rate at which the Fed increases the money supply.


8.
If the natural rate of unemployment falls,

a.
both the short-run and long-run Phillips curves shift left.

b.
the short-run Phillips curve shifts left, the long-run Phillips curve is unchanged.

c.
the short-run Phillips curve is unchanged, the long-run Phillips curve shifts right.

d.
the short-run and the long-run Phillips curves shift right.


9.
In the long run, a decrease in the money supply growth rate

a.
increases inflation and shifts the short-run Phillips curve right.

b.
increases inflation and shifts the short-run Phillips curve left.

c.
decreases inflation and shifts the short-run Philips curve right.

d.
decreases inflation and shifts the short-run Phillips curve left.


10.
Most economists believe that a tradeoff between inflation and unemployment exists

a.
only in the short run.

b.
only in the long run.

c.
in both the short and long run.

d.
in neither the short nor long run.

ANSWERS:

1=B, 2=D, 3=D, 4=B, 5=A, 6=B, 7=C, 8=A, 9=D, 10=A

